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4. Answer any three of the following questions :
10x3=30
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(@) Discuss the various methods for
measurement of national income.
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(b) Explain Keynes’ theory of employment.
@A Azt ©geh! I F41 |

(c) Explain the liquidity preference theory
of interest of Keynes.
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(d) What is investment multiplier? Discuss
the role of investment multiplier in

developing country. 4+6=10
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(e) Explain the measures of controlling
inflation.
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(N Define national income. Discuss the
difficulties in the computation of
national income. 3+7=10
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Answer the following questions :
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(a) What is personal income?

e o 32

(b) What is autonomous investment?
asfern Rfvane &2

() What is effective demand?

e wifdm & 2

1x7=7

(d) When marginal propensity to consume
is one, then what will be the value of the

multiplier?
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(2) (3)

(e) Define inflation. 3. Answer any three of the following questions :

PSR e fian | 5x3=15
() What is welfare? e s R e fimn :
I 2
R (a) Discuss the. relationship between
(g0 Mention one factor that can increase the national income and economic welfare.
consumption capacity. WO W WF GLAT IR ES o
Tororst el @ 391 GBI Towm Sraw 301 390 0 1
) ) (b) Explain the concept of consumption
2. Answer the following questions : 2x4=8 function with the help of a diagram.
oS i erprp s i : BoiTSIe! TR ARACH B e < <1 |
(a) Mention two factors that affect the
inducement to invest. (c) Distinguish between demand-pull and
e RRGER JoRIfe 1 151 Somw cost-push inflation.
TER bR et SF Beorm ImEe [EERIRA
(b) Write about the significance of equal s
distribution of national income.
S R a (d) Distinguish between average propensity
: al to consume and marginal propensity to
(c) Mention two assumptions of the consume.
classical theary of infcccst. T BTSSRI TE A BTSN 2R
I REIPIS SEOR 1 Sy Teas 41 | TSR o BT |
(d What is meant by consumption
function? . (e) Explain the effects of inflation on
Torot o IR R o 2 production.
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